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Start time: 199901010000 ;    End time: 199901202300

Function: Vignette1    Signal10−20.txt ; TimeCol= 1  Ycol= 2  RefDateTime= 0

noTaper    −−05Apr17−−19−28−06  Units= hours  Interval= 481  Increment= 481  header= FALSE  Set= 0 Start/End= 144 / 4

Maximum Period from COSINOR Least Squares Spectrum: Data Column 2

Interval Period P PR Mesor s.e. Amp s.e. Phi s.e.

0  −  480.000 48.00 0.000 50 −3.62756e−17 0.809405 25 1.14467 −90 2.623390  −  480.000
0  −  480.000 24.00 0.000 50 −8.85003e−16 0.809405 25 1.14467 −90 2.623390  −  480.000
0  −  480.000 72.00 0.138 0.82813 −0.00600935 1.14192 3.18474 1.59574 −30.1147 29.35770  −  480.000
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Column: 2 ;    1999−01−01 00:00 −− 1999−01−21 00:00

MyData$time.hour[StartIdx:EndIdx]
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Time ( hours ) from reference date:  1999−01−01

Periods: 4.00  to  144.00 hours  
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Green dots = S.E. standard error


